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NLM & FRICTION
1. 10 kg  4 m   ,  }

 {  ,  F 

 45°  F  : (
.;  g= 10 ms–  2 )

(1) 100 N (2) 90 N (3)  75 N (4) 70 N

2.
A

B
C

 (inclined plane) AB  ,
 B  {
   ( = )  BC  ?

, CA  ?    ;
 ;  (A )  :

 ;  BC = 2AC  ?   = k tan

 k  ________.

3. 30°  ,  ,
 0

 0

2
 ;

 ?  
I

1000
 I

 __________ .

4. 1 m  ,

]  h 

 ;  ?  0.75 ,  h

 : (g = 10ms–2)

(1) 0.80 m (2) 0.60 m
(3) 0.45 m (4) 0.20 m
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SOLUTION
1. NTA Ans.   (1)

Sol.
45°

10kg 

F

45°

10g 

F

T

For equilibrium,

T sin 45° = F ....(1)

and T cos 45° = 10g ....(2)

equation (1)/(2)

we  get  F  =  10g  =  100  N
2. Official  Ans.  by NTA (3)

Sol.

A

B

C
mgsin

mgsin

Apply work energy theorem
mgsin  (AC + 2AC) – mg cos AC = 0

 = 3tan
3. Official Ans. by NTA (346)
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a1 = g(sin  +  cos )
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3 sin  = 5  cos 
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4. Official  Ans.  by NTA (4)

Sol.
h

mgsin

f

For balancing mgsin  =  f

mgsin  = µmgcos

tan  = µ

tan  = 
3

4

R

h

Rcos 5

4

3

h = R – R cos

4 R
R R

5 5

R
h 0.2m

5

 correct option is (4)


